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SECIION A

Discuss Data link layer of point to point protocol. 
E

,l't:::: ": 
concepi of swirching, as ir rclates to the probtem involvalrn connection of devices. '- -'- Hrvurl,,, ,rv, 

6

OR

2. (a) What are two types of slidine w
differ from one another. - 

,indow ARe error control ? How [hey

Compare circuit switching and vinual circuir switching. :

(a) Suppose tlEee clients want ri
this.can b. a"* *ro',r,i ;'",;':1 ',ffi ff +H 

serve( explain how

(b) Explain UDp packet format. 
5

OR

3

4. (a) Explain Multicasting and U
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5

5. (a)

(b) Explain in brief Purpose of ARP

Explain Network management for the usk of Elror Control and Congestion
8

(b) State signiflcance of Littla's formula in queuing drcory

Explain 'State of Equilibrium' with the basic qucuing mdel

Explain neMork management protocol'

What will be the maximum time required to detect collision by the

stations in wolst cases'l 6

Control.

Draw and explain zigbee functional architecture'

Explain Ad-hoc network'

OR

5

OR

6 (a)

(b)

g. (a)

-t

6

7

SECTION B

(a) Consider a slotted ALOIIA. system having four stations

If the offercd loads are Gr = 0 1'

G2 = 0.s, G3 = O2 and G4 = 0'2

Packets per second frnd the individual 0[oughput rates Ior each user and

7
the total tltmudhPut

(b) Explaifl CSMA,/CD with its use'

Explain delay tluoughput characteristics of ALOH^ and Stotted ALOHA'

6

OR

9

(b)

(a)

(b)

8

6

7
10. (a)

(b)

Exptain Zigbee Protocol suck'

Explain MAC sublayer of wireless LAN
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ll. (a)

(b)

Explain symmetric and Asymmetric key cryptography. 
7

Compare RSA and DES algorithm
and thtroughput r",". -- -'o-"*" on the basis of cost' cDcryption timc

.oR
Explain Block cipher and state its significance in DM algorirhm
What do you understand by substirution cipher.

12. (a)

(b)
't

6

3
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